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Question Number : 1 Question Id : 492863961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Match the following
List-1

(a) Order

(b) Species

(¢) Family

(d) Class
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The correct answer 1s
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Nigrum
Polemoniales
Solanum
Solanaceae
Dicotyledonae
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Question Number : 2 Question Id : 492863962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Assertion (A) : Euglenoids have a flexible body.

Reason (R):  They have a protein rich layer called pellicle. which makes their body
flexible.

QS0 (A): cofaronden Sdgdie 680 §OA wolran.
sdwo (R): TES® God DES wdlor Ko OIS olad P S T8 oos
SHogd DEr&S08.

Which of the following 1s true?
& 1808 TS QB DSgH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
¢ (A) 508050 (R)Bodor Sdgbn 08050 (A) 8 (R) 0808 Db8de0
Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(A) 58050 (R)Bodr Hégsw, 52 (A)8 (R) $050$ 258 52
o ®
(A) 1s true. but (R) 1s false
(A) 25500, 570 (R) evdefghon
3 %
(A) 1s false. but (R) 1s true
(A) ebsgsn, 5 (R) 88550
#®
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Question Number : 3 Question Id : 492863963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Study the following lists and match the discoveries and/or inventions made by the scientists
during 20® century

List-1 List-1I
(a) Oxygen evolution from H,On (1) Benson
photosynthesis

(b) C;pathway of Carbon assimilation ~ (i1) V.S.RamaDas

(c) Contribution to C,-photosynthesis  (ii1) Robert Hill

(d) Artificial synthesis of genes (iv) Hara Govind Khorana
(v) Frankel Conrat
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Question Number : 4 Question |d : 492863964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Pteriodophytes. especially ferns possess the following characteristics
1)  Circinate vernation

i1) Ramenta

i11) Eustele

iv) Paraphyses

BOE PHw, Jupgormr oo & fod vfmrod EOA wolraw
1) S988300h T gdhw

1) o°Boodr

iii) cSarQd

V) SHdgododen

The correct combination 1s
28 $OGS Fo¥DoD)
Options:

& 1v

- 1&1

L1&1v
=3 ®

.11 & 1wv
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Question Number : 5 Question Id : 492863965 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Read the following combinations and arrange the below chronologically in the light of
evolution

1)  Vascular Cryptogams - Ramenta

i1) Embryophytic non-archegoniate phanerogams - presence of companion cells in
phloem

ii1) Plant amphibians - elaters
iv) Tracheophytic archegoniate phanerogams - no vessels in xylem

& (800 ¥ BEH0s HoerdoES sprdorr 1Bod TR sroEdrdiardom edodod
1) TISTHNY o Py - ool

i) 2od8d R DerdoHind DNeBTIng e - FE Lomreod’ SrieTrerotran
1) &oddang e - adLd

V) &95°55890508, @, Derdohdnde Pod I - TOT DI TEHY

The correct sequence 1s
QB DB HSDBES00
Options:
v 111, 1. 1V, 11

11, 1,11, v

2 % 11,1V, 1. 11

L 1 1, IV
4 ®

Question Number : 6 Question Id : 492863966 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The inflorescence found in Jasmine is a

8BS &) JQITgdo
Options:
Polychasial cyme

PTTPOH IS

Cymule

PRI WFo
- 5 V%)

Dichasial cyme

&THO A0

Monochasial cyme
JETPos dHFo

Question Number : 7 Question Id : 492863967 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

In watermelon the spirally coiled stem modifications which help in climbing are developed
from

DHFONS’ JrEEAS SIBrHIE OB BBAL 80y HA Hod S5PPod Srroddo
DOEI0H
Options:
Apical bud
o 5850
1. %
Adventitious bud

wandy &80
o ®



Axillary bud

BSP §8%o
=94 .3

Terminal bud

oS §d8o
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Question Number : 8 Question Id : 492863968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following
List-1

(a) Flowers appear to have arisen from the same
point of peduncle

(b) The sessile flowers are arranged on
peduncle in acropetal manner

(¢) The sessile unisexual and neuter flowers
arranged 1n acropetal succession protected
by a modified bract

(d) Unisexual and/or bisexual sessile flowers
develop centripetally on a condensed peduncle
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The correct answer 1s
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List-1I

Corymb
Umbel

Spike
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Question Number : 9 Question Id : 492863969 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Assertion (A) : Bamboo species 1s a perennial plant and exhibit unusual flowering
phenomenon.

Reason (R):  Bamboo plant flowers only once. i.e. at the end of the life after 50-100
years.

NS0 (A):  IBerd o8 2008 300, S000k0 BFFTTVIS YD BYIRSTY)
SrHB08.

s&mo (R): 30 50-100, doserore SHhaTd FESEIS' wBuLE T8 Hydod.

Which of the following is true?
& 1808 FAS® 2B DSgH0?

Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)

L@ (A) 5000w (R)Bodsr d&gi0 00 (A)8 (R) 20508 Dbden

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(A) 5000w (R)Bodr désin, 570 (A) § (R) 203808 D8 sk
o ®
(A) 1s true. but (R) 1s false
(A) Jggd0, 57 (R) eddgaban
3 ®
(A) 1s false. but (R) 1s true

(A osdgsn, 50 (R) 98530
4.



Question Number : 10 Question Id : 492863970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Assertion (A) : Cellular thickenings at the micropylar tip guide the pollen tubes into the
synergids.
Reason (R):  Synergids have antipodals located at the chalazal end.

APS0 (A): wodwmdy &8 3§ &&) Sadomw JHoiTerod ST g’
3608 T6 SrHTow.

s*8mo (R): DTP0% Beoren D8 Srredh SO0 God Worer FNIN) dodiron.

Which of the following is true?
& 1808 TAS® A8 DBgH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) 08030 (R)Todsr Sdgban 00adn (A)S (R) 20508 Ddden
1 #
Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
. (A) Sobasn (R)Todsr 28gh0, 520 (A)§ (R) 965308 D8 57
2,
(A) is true, but (R) 1s false
(A) S8g50, 570 (R) edegadon
3
(A) 1s false. but (R) 1s true

(A) @K;égmﬂ o (R) ﬁégaﬁw
4 #®

Question Number : 11 Question Id : 492863971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Dichogamy and herkogamy are the important devices or modifications to prevent one of
the following:

DT OE DEE Hodoin T AL ©F SupgRod Sroren B Srdrodoen, a8 (§od
TAS' € T BHPIow
Options:

Asexual reproduction

wB0hE RSgEE

Cross pollination

% ToPeTonts! KJUE}G’ETU

Autogamy

wd)Hol Hodg)o

3 v
Vegetative propagation
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Question Number : 12 Question Id : 492863972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Study the following lists. Match the floral parts given in List - I with the corresponding
symbols, in List - II

List-1 List-1I
(a) Calyx ) e
(b) Owvary superior (11) %
(c) Actinomorphic (m) C
(d) Zygomorphic (av) K
v G

& 808 Fdsod wfgohdo Fabesd. wde -1 & &) JQwrmes, de - &
&&) oI dosered” ad Srdod

e - 1 erde -11
(@) o8& HSo i @
(b) g @odE¥o (1) %
(€) LScsdo (1) C
(d) 88 FRScsndo ) K
™ G

The correct answer 1s
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Question Number : 13 Question Id : 492863973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Example for a monodelphous androecium is

Options:
Pisum

= af
w'-:‘-.::'..E.:'
[- -

Solanum

e 5 ..u.%

Dracaena
Fa
(T ROT°
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Crotalaria
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Question Number : 14 Question Id : 492863974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Assertion (A) : The “Fluid Mosaic model” proposed by Singer and Nicolson indicated
that the quasi-fluid nature of lipid enables lateral movement of proteins
within the overall bilayer.

Reason (R):  Inthe cell wall of a young plant cell. the primary wall is capable of growth,
which gradually diminishes as the cell matures and the secondary wall 1s
formed on the inner side of the cell.

APSE0 (A):  IEE (B5R8S” 0B OGO ©¥m0 I BEISEIIS, PES wnHo
>3 édﬁééﬂ:é@ Qoo EOAN0ER Dok, VESHS HaFHoVS Qrocé
eronf ddorTres” drdodadod.

8o (R): BEI0E), S EeslToS, (TP Ehb0 s Sdogd §OnB00E,
ESoom Ewo SHBIVYE ©b $h HBoH ESPo Fwo STHO IPH
DCSJC@J@JD&.

Which of the following 1s true?
& 1808 TIS* I DSgH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
, (A4) Bo0050 (R)Bodr H8g50 S00a5n (A) 8 (R) $8538 dSden
1.
Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(A) 500050 (R)Bodr Hég50, 579 (A) & (R) H00& 2560 &
> o

(A) 1s true, but (R) 1s false
- (A) Dgg0, 570 (R) eddgadan
(A) 1s false. but (R) 1s true
(A) 38380, 20 (R) degdao
®
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Question Number : 15 Question Id : 492863975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Among the following. identify the Zwitterionic form

-
£

& 8ob 78S 2d wolrd drdray ool

Options:
R
+ |
H.N—-CH-COOH
1 #
R
+
H,N-CH-COO~
o
R
] +
H.N-CH-CO
3 %
R
|
HN-CH-COO
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Question Number : 16 Question Id : 492863976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the changes which occur in the chromosomes during meiosis. with the different

phases of prophase-I

List-1
(a) Pachytene
(b) Zygotene

(¢c) Diplotene
(d) Leptotene

(1)
(i1)

(iii)

(iv)
)

List-1I

Compaction of chromosomes
Terminalisation of chiasmata

Pairing of chromosomes

Dissolution of synaptonemal complex
Recombination nodule

gohEdm Pusds” FIrTFood” 2if Srdyod PEHEE -1 S° ¢l B o’

=TS letnlele
erder -1
(@) 885
(b) BFES
() &8
d) BPSS

The correct answer 1s
58 Lo o

Options:
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Lx M (v) (D)
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(m) () (1)

2 ®
(@ @® (o)
L ) @ i)

(d)
(1)

(d)
(iv)

(d)
(V)

(1)

(i1)
(iii)
(iv)
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Question Number : 17 Question Id : 492863977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following are the characteristic features of phloem?
i)  Gymnosperms have albuminous cells and sieve cells
11) Presence of tracheids

ii1) They store food materials in the form of starch or fat.
iv) They have sieve tube elements that are long, tube-like structures
v)  Their end walls are perforated in a sieve like manner

& B0 TES® A FIE SwETrosn B oFros?

1) IS Derew vORNITINE Eerren HOBR To e N Golrow
1) TS 08 Goddo

1) 2D sHE ITTod Dod BE FHOIB Jog ote oD

V) 20 ToAT¥ dwrostor 8O0 wolron. ad FEPMT, TR ol duyTen

V) T8 o8l Bodgiides Go@odnddy 2B8d58 trotrmon

The correct combination 1s
QO DOGH DoY)
Options:

1. 11, 1vand 1

1 ®
11, 11 and 1
o ®
Livandwv
o b

V. 11, 1v and 1i1



Question Number : 18 Question Id : 492863978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Study the diagram and the list given below

& Bod BB, HPEH wigohso Babod

i)  Chloroplast

ii)) Epidermal cell
111) Guard cell

iv)  Subsidiary cell
v)  Stomatal pore

1) 58800
1) erdrgiidy Season
i) 6%& s
IV) @208 080

V) SHE80igsm

The correct match 1s
B HOTE F¥IoD)

Options:

@ ® (© (@
Lo ) v () (i)
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Question Number : 19 Question Id : 492863979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Hydrilla and Limnophila are examples for the following categories respectively
i)  Free floating hydrophyte and rooted hydrophyte with floating leaves
ii)  Submerged. suspended hydrophyte
ii1) Anamphibious plant
iv)  Submerged, suspended hydrophyte and a free floating hydrophyte
v)  Submerged. rooted hydrophyte and an amphibious plant

TG 85w Odmawr, & fod TEE JHIM GTriaw

1) Q&P J5HT BT AL S8, 508050 of)Ede Fod WD BT JErws fo I 308,
1) o 08S° S0dh, vdwoddor ¢od I8 I,

i) egoHss 308,

V) Q&S 5000, ehwoddor ol I8 I8 Hocin G 38 A8 I,

V) Q& Soodd, ﬂfiﬂédza DoOHS S0g), Sodosn trgfodald Dok

The correct combination is
20 $05305 ¢DoD
Options:

1&11

1%

1n&iv
o R



1&vV

i1 & 1ii
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Question Number : 20 Question Id : 492863980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Indicate the correct statement from the following

& 1508 TS S0 argwgd Mgodod
Options:
1. %
Ephemerals-Tiidax; succulents-Asparagus: non succulents-Casurina-in Xerophytes
508 JnF o - (@FE) : SRFlTw - @0 oviv 3080 50 I W -

520" - WTeds) Emé&ﬂeﬁﬁ

2 ¢
Roots absent/poorly developed if present generally fibrous and stem is long,. slender
and flexible - in hydrophytes
3% BY / 3% BHT SKEYS 5B BodID, ¥ FFdwom VWS Gotrow
$00030 JHR, PEIS DeoFdomr Sof sPodhn o - A8 g o’

o R

Mesophytes grow in such a balanced condition of water and gases but lot of adaptations
are necessary to face the favourable conditions

RS, MmO Ddvdoogoiie &aﬁgeﬁmeﬁ* ;’mﬁg"g S oo DHHETon 57, BErY

DOYHON OIS T BNErOT LY BIHVGNYHTTOD



E

Cuticle 1s totally absent in submerged aquatic plants. while the epidermis is composed
of thick walled cells

NOST D0AA G0l INH,0S" WITR PET GOk, @oNd wrIrgEo HodId

Eaaren ﬁé:_l Begrod® S0 wolnod

Question Number : 21 Question Id : 492863981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Assertion (A) : Sodium chloride 1s dissolved in water and this solution will have a lower
water potential than pure water.

Reason (R):  The ¥, is always positive in comparison with pure water.

NS0 (A): FEoho 508 ABS® BoyT JHAS (@eho o), A o DFuoo 85
559,50k
820 (R): DG zood Foyr W Syd S8 5D

Which of the following is true?
& 808 TAS" A8 DBgH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) 5080 (R)Todsr Sdgbn 00osn (A)S (R) H08308 Db
1. %
Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(A) Sob8asn (R)Bodsr 382, 520 (A) 8 (R) 58508 D8 52
o %
(A) 1s true, but (R) 1s false
(A) 3550, 570 (R) edegadon
3
(A) 1s false, but (R) 1s true

(A) o3850, 2 (R) degada
4 ®



Question Number : 22 Question Id : 492863982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following
List-1

(a) Chlorine

(b) Sulphur

(¢) Potassium

(d) Nickel

808 FEY 2SHSBod
o -1

(a) gox

(b) Sl

(c) réricho

(d) 8S

The correct answer 1s

58 wod 2o

Options:

@ ©® (©
@) D) ()

(d)

(11)
(iii)

(iv)

)

(1)

(11)
(iii)

(v)

\Y)

List-1I

Helps to maintain an anion - cation balance
and 1s involved in protein synthesis

Helps in determining the solute concentration.

It 1s the main constituent of several
coenzymes and vitamins

Found to induce disease resistance in some
plants.

Structural component of Cytochrome ‘C’
oxidase

o - 11

@ES doFded’ FTolr udairsen,
SrLoiren ddodegonr trowitaty &¢ kol
ETRoo Fodd ATE0E &0
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Question Number : 23 Question Id : 492863983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The formation of the Enzyme - Substrate complex is essential for

QOBN-9EPHTrY H08R0 A EWHLH BIIEISE
Options:

catalysis

DINN0
1w

chelation
88Aa

elicition
RO VA
anabolism

QT ETE )8 (5032

Question Number : 24 Question Id : 492863984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Arrange the path of electrons from water to the phycocyanin in the light reaction.
i)  Plastoquinone

i1) Excited P680*

1) Cytf

iv) Fe-S

v)  Pheophytin

vi) Quinone

5708 $IgS' AW Hod PE RIS JoEs Sarer 200 Srdody Edom Boyod
1) TAEITS

i) 32585 P680*

i) D& f

iv) Fe-S

V) 28r a8

Vl) éﬂg iﬁﬁ -’.5

The correct sequence is

28 BOSS KD EH00

Options:
111, v, Vi, 1, iL, IV
1. %

11, v, vi, 1, 1v, 111
o

IV, 11. 1. 111, V1. V
T ®

Vi, iv. v. 1l 11, 1

Question Number : 25 Question Id : 492863985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Find out where transketolase and epimerase reactions occur among the following :

i) G-3-P+ DHAP .—:w Fructose — 1— 6 — bisphosphate

ii)  Sedoheptulose—7—Phosphate + G—3— P. — Xylulose—5—P+Ribose —5—Phosphate
ii1) Ribose — 5 — Phosphate .—> Ribulose — 5 — Phosphate

iv) Xylulose — 5 — Phosphate .—lr Ribulose — 5 — Phosphate

v)  Fructose—6—Phosphate + G—3—P—— Xylulose — 5—Phosphate +Erythrose—4—Phosphate

& 180D BEgees® ErQ)8is'Sa H0ain JHTE SEgen I8, 28MS HHgotod
) G-3 P+ DHAP — 586 — 16 3+
i) SEHBE —7- 3%y +G-3-P — Benc's —5—P+ 355 —5— IS
iii) D5 — 5 — IS — 6w’ —5— IS

V) Bend’™® —5-— @"’E\:;Jﬁ .4} B’ — 5 — ﬁf""&{)éf

V) $E8 —6-2%8 +G-3-P —— Bens™ —5-3HE + 0T —4- by

The correct combination is

28 $6508 Heo

Options:

1%

n.1.1&v
o R

- 1. V& 1V

v.ii&i
4 %

Question Number : 26 Question Id : 492863986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



In the TCA cycle. conversion of Succinyl - CoA to succinic acid is catalysed by

TCA g™ $5TE - CoA 5308 DBV wiho Aot TR

Options:
dehydrogenase

A EFeIE

thiokinase

EBreaS
2 .

decarboxylase
&5 §oE
3. ® s

synthetase
DOGBE

4 ®

Question Number : 27 Question Id : 492863987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the oxidative decarboxylation reaction of citric acid cycle, following products are
observed when o-ketoglutaric acid 1s oxidized.

EOE e HiBosS” s§RBS 355‘6;5&5515 550 0-8ET B E eiio es8)8Ea0 BOASHYE
D DTTen S

Options:
Fumaric acid + FADH, + CO,
Dg0d8 esivo + FADH, + CO,

1 %



Oxalosuccinic acid+ NADH + CO,
u5S* 0505 ede + NADH + CO,

2 % =
Succinyl CoA +NADH + CO,
5836 CoA + NADH +CO,
3 v
Malic acid + CO,
SO eoo + CO,
4 ® b

Question Number : 28 Question Id : 492863988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which hormone is sprayed to increase the length of stem in sugarcane crop?

DO DHobreS® srodo FED dhHGOR 2 T Ko Wenerdd

Options:
Ethylene
RIATI)

1. %
Cytokinin
RETTBIS

o ® L
Gibberellin
Zande -‘5

ABA

Question Number : 29 Question Id : 492863989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Plasmids have the following characters.

i)  They contain fewer genes than the bacterial chromosome.
i1))  They have single stranded DNA

i11) They can be used as vectors

iv) They contain linear form of DNA

v)  Plasmids confer protection to drugs

GO & 8o wire Godrron

1) aﬂé&oﬁjeﬁ E'arardne 88 S50 5 2dgden dotrow
i) 2 Q83 DNA 08 dododo

111) QD TITE e GIBTHIIEK0

V) 20 A8S8 & DNA 80 ok

V) ohen TATe Jolfed” &dydodo

The correct combination is
28 $BGE Ho¥DoD
Options:
L 11, V, 1V, 1. 111

i it v
o

1. 1v. 1
o R

111, V, 11, 1V
4 W

Question Number : 30 Question Id : 492863990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



What is the order of events that occur in a bacteriophage lytic cycle?

EONrIES’Y TBE HEod’ o dfo EHoo 267
Options:
penetration = attachment = biosynthesis = maturation - release
$3d0 > wolTBLRTHoL > ESSoTR0 > HOSKS > I
1. % - o
attachment — penetration = biosynthesis = maturation = release

ol DLNTHL > PIFo > £dd03dew > HOIEE > e
2.

release = penetration —> attachment = biosynthesis = maturation

Qe 2 (H3F0 2 wof DS ob > L3500 > HODIES

attachment — biosynthesis = maturation = penetration —> release

SotIDEPTH &L > £5d03he > JBHEE > PIdo > ddde

Question Number : 31 Question Id : 492863991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the possible genotypic ratio in F, generation if a plant producing red flowers (RR)
is crossed with another plant of the same species that produces white flowers (11)?

A6 Yiryew (RR) do 30g), o8 =88 Dodd 3658 dwohPryen (I1) fo g &
DoEdE0 23008 TV Sodd Sdos” Ddg& 23058 A8 Q o todrieodo?

Options:
Red : Pink ; White
D839 : Hoered) : S0
| : 3 ; 1



1 2 1
2

Red ; White

Nlsths) : SO0R)

3 1
=3 #®

RR Rr IT

2 6 4
4 #®

Question Number : 32 Question Id : 492863992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Assertion (A) : A single gene may be occassionally related to more than one character.

Reason (R) : The above phenomenon cannot be called as pleiotropy since a single gene
cannot be related to more than one trait.

QPSI0 (A): a8 2dogl) oIPEINE o8 T EJ) 8D ofeorod” domodo £OA
wodnod.
8o (R): 28 BOYS DBBYS wTvE (Herdgo 5. Jododes el wE D& adogY)

2uT0¢ ofrrod Souodo EOA Godd.

Which of the following is true?
& 1808 TUS® 2B DHBgH0?

Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
. (A) 500050 (R)Bodor deghn 8o (A)8 (R) D8G808 Dbdes
1.
Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(A) 0005w (R)Bodsr 85w, 570 (A) § (R) H0330s D8 57k

o R



(A) 1s true. but (R) 1s false
v (A) S50, 50 (R) evdeggdon
(A) 1s false. but (R) 1s true
(A) o3850, 0 (R) d&gb0
®

4.

Question Number : 33 Question Id : 492863993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assertion (A) : Mice infected with the S strain (virulent) die from pneumonia infection
but mice infected with R strain do not develop pneumonia.

Reason (R):  This is because the S strain bacteria have a mucous (polysaccharide) coat,
while R strain does not.

QNS0 (A): devsod® g0 5288 S f“?éﬁ (738 SBEm) Jod JogIrJadr
FRIRYETon. T R@S Sod Dgardcir Sord.

8o (R): &8 580 S @5 8800’ SorgEd Y (FdTxddew) Gotwod.
509 R@Seﬂ* 0.

Which of the following 1s true?
& 1808 TS 2B JSgH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) 08030 (R)Todr Q&g wdadn (A)§ (R) 580308 D&b8e0

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
o (A) 508050 (R)Bodr 850, 57 (A) 8§ (R) 20338 2580 5%
2|

(A) 1s true. but (R) 1s false

(A) 2550, 570 (R) eoddgadan
3 ®



(A) 1s false, but (R) is true
(A) 38550, 0 (R) S50

Question Number : 34 Question Id : 492863994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

A change of single base pair in the gene for beta globin chain (in human haemoglobin) that
results in the change of amino acid residue glutamine to valine which is due to

A HR iﬂﬁ:ﬁ@ﬂﬁ&f e Dir TAS Hopood® Ko 20gYS” w8 58 28 SrdyBotb
S8 c"&g% E@S‘ %f&gu @mgﬁ T O E:'JJ*»’.’)JJ Dok
Options:
Frame shift mutation
P LY &SBSTw
Point mutation
Dol eSBIGT e
o
Insertion mutation

=BT G E\0IT e

Silent mutation

B0l &8I
4 ®

Question Number : 35 Question Id : 492863995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Two of the following statements are correctly defined. Identify the correct combination
i)  Conversion of hnRNA to mRNA - processing

11)) Removal of introns and joining of exons - splicing

111) Addition of adenylate residues to 3 -end in a template dependent manner - Tailing
iv) Methyl adenosine triphosphate is added to 5-end of hnRNA - capping

& §0b Trgpged” ot SBIIM A DoWBID. ST add Mwodod
1) InRNA & mRNA Sedyé - @@ wnoh
1) 2w Hod & ITRed® Soal -‘J%:]?\mﬁ
1ll) @&308 el I-FIS° §00 Bowld dSo@orm todd - BOoh
V) hnRNA % 5'258¢° 2036 0o 2 @#1‘;{35 Eeodod - s*aoh
Options:
1 & 11

1&1
>

- 1&1v

L% m & 1v

Question Number : 36 Question Id : 492863996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Restriction endonuclease recognises palindromic nucleotide sequences. because they have
characteristic

BRES Do&$rED, FOSEWE SrEBrBE ESrd) HGoH%. T8 MBS ofren

580

Options:
Dyad symmetry

- &55 Eﬁ“é&éﬁé



Staggered cut
PG DS

Direction of expression

& Hg8¥bot0

Recombinant DNA sequences

SsdoRras DNA g0

Question Number : 37 Question Id : 492863997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Assertion (A) : The fragments of DNA generated by the action of restriction endonucleases
are separated by polyacrylamide gel electrophoresis.

Reason (R):  The separated DNA fragments are visualized as bright orange coloured
bands after staining with Ethidium Bromide followed by exposure to
UV-radiation.

AHSI0 (A): ORER QoG ErEGHO $8ghe J6AS DNA Fden FOJBoE BS
QOEFEFEVR S0l IETFHD.

8o (R): 2GR0 HES SozodBd UV TEHRS HoBuddyee d&Fd
DNA Fden 5708508308 J70ox FobeS” S,

Which of the following is true?
& 1808 TS® B SBgH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
§ (A) 508030 (R)Bodr ddgbn S00cdn (A)8 (R) 20808 ddden
1
Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(A) 58050 (R)Bodr Hégsn, 5 (A) § (R) 905308 58 2%



(A) 1s true. but (R) 1s false
(A) Jgg50, 570 (R) ededgbn
3 ®
(A) 1s false, but (R) 1s true

(A) o3850, 0 (R) degban
4

Question Number : 38 Question Id : 492863998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is involved in silencing specific mRNA?

& 1806 &S D33 mMRNA S 28]) (silencing) Sobéros® FSTIH 262
Options:
Complementary DNA molecule

Lowr8E DNA o0y

Protein template

IS Sord Doddn

Cellulose template
_"e;mgtﬁﬁa"s_' [orn Hesdon
z %
Complementory RNA molecule
Qogrds RNA eseand
4 v

Question Number : 39 Question Id : 492863999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Assertion (A) : Transgenic Golden Rice is rich in Vitamin A and prevents blindness.
Reason (R) :  Itisobtamed from “Taiwan’.

QPSS (A): RS 20med 56 (FGIBD) S0t DS AJB) I &od woddiod
Q& o,

3o (R): 20 B vod ©DHood.

Which of the following is true?
& 1808 TUS* 2B DHBgH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) 5005 (R)Bodr Hégsn S0ak» (A)& (R) 80508 2580

Both (A) and (R) are true. but (R) is not the correct explanation of (A)
(A) 508030 (R)Bodsr d8gsh0, 520 (A)§ (R) 56508 Q&8 52
o %
(A) 1s true. but (R) 1s false
(A) 3500, 570 (R) eddgsbw
3. v
(A) 1s false. but (R) 1s true

(A) WRB9N0, 5 (R) Q90
4 ®

Question Number : 40 Question Id : 4928631000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Assertion (A) :  Plants association with symbiotic species show benefits such as resistance
to root-borne pathogens. tolerance to drought.

Reason (R) : Fungal symbionts in plant-fungal symbiotic associations facilitate
absorption of phosphorous by the plant from the soil.

APSI0 (A): o oo ITEIS rHod T dTTdo Jod 3¢ oo Tgood
HoiEHe Dol S Hdon STErard) SLpdod ¥§ Sod wraren
FodBS 0.

s¢=mo (R): JDTES50ored drado atn I o 3doY STEHen 08¢
0& TR FpofiEdee” &' darow.

Which of the following is true?
& 1808 TS° D& HBgB0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) 508030 (R)Todks Segdon Ho8asn (A)§ (R) 305308 D8
1. %
Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
- (A) S08csn (R)Bod dd8gd0, 20 (A) 8 (R) S6008 Dddm 5k
(A) 1s true, but (R) is false

(A) D550, 570 (R) ed&gsbw0
3 ®

(A) 1s false. but (R) 1s true

(A) e58550, 2 (R) 98550

4 ®
Zoology
Section Id : 49286326
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 40

Number of Questionsto be attempted: 40



Section Marks: 40

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 49286326
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 4928631001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following

List -1 List-1I

(a) Reproductively isolated from the (1) Genetic unit
individuals of other species

(b) Sharing the same ecological niche (11)  Anevolutionary unit

(c) Showing similarity in the karyotype (111) A breeding unit

(d) Having similar structural and functional (iv)  anecological unit
characteristics

Bob TEI aEHES08
e -1 e - 11
(a) SEr@8 Bodd £Ho& PSS (1) 8 ol adg Pdreo
DSES BESBYR00
() =8 2dde FFTQY DoWwsotron (11) 2@ 28 D00 [P0
(€) 23888 FIrSdwe Lo drdron (1) 278 of PadS PIrwo
(d) Qo d) 8, BoSrE)E ofrrod” iv) &8 o8 2d8e Pirwo

#Srégé;‘ﬁj 5O/ oo

The correct answer 1s
58 wond =amen

Options:
@ @® (© @
L G G G @



@ ® © @
L i) G @

@ ® (© (@
() Gv) @@ (i)
3

@ @O () @
1) () (1) V)

4 %

Question Number : 42 Question Id : 4928631002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following
List-1 List-1I
(a) Charles Darwin (1) Systema Naturae
(b) JohnRay (11)  Natural History
(c) Buffon (111)  Historia Generalis plantarum
(d) Linnaeus (tv)  The origin of species

§ob B 2SS0

erder -1 erder - 11
(@) @S &0 (1) SIS IS
(b) ST (11) SWES s
(€) argadr (1)) SPooir BITOD Folrd
(d) OJ[HoHd (Iv) erdo &g

The correct answer 1s

w0 oM 2aTmew

Options:

(@ (b (@« (@
(v) () (1) ()
1 %



(a} (b) (5) (fD
, o ) () ) Q)

@ ® © @
L @ O ) i

@ ©® © @
L@ G O G

Question Number : 43 Question Id : 4928631003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following
List-1 List-1I
(a) Asymmetry (1) Cnidaria
(b) Radial symmetry (11) Platyhelmenthes
(c) Bilateral symmetry and Enterocoelom (111) Porifera
(d) Bilateral symmetry without body cavity (1v) Hemichordata

Bod TEY usHES0s

arde -1 do - 11
(a) odHso (1) e tslonty
(b) N RHo (11) T 0D
(€) Bgrd) TR0 0Bl wog FBILITo (1i1) oo
(d) &gard) FHko Hodoin ¥0880rE Sardhw (Iv) “rosTgir

The correct answer 1s

N8 2o 22ae0

Options:
@ o © @
Ll (G (v G



@ @® (© @
L @ G @)

@ o (© (@
L W) i) ) @)

@ @® @« @
(i) (1 Gv) (1)
4

Question Number : 44 Question Id : 4928631004 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The cells which form blood brain batrier in the central nervous system are
Bois b Sg53e° Bod TES® D Seoren EBN-BoEE ST D SoS® S EHE D

Options:

Oligo dendrocytes

SOTBoIE &)
1
Astrocytes
e |3 2 dd
b B S )
Ependymal cells
D DOBNE Eegren
3 # o
Schwann cells
&55 Begren
4 W

Question Number : 45 Question Id : 4928631005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Statement (S) :

Reason (R) :

g (S):

8o (R):

The amphibian blood is composed of erythrocytes. leucocytes and
thrombocytes. The thrombocytes help in haemostasis,

The haemostasis regulates the body temperature in poikilotherms.

SFHITO $E0S* JGEEEmen, Budiiarar 2005 (@0
Golran. [@od Rty SFrard) @dLE s (Tlrgal) &dyderon
0364 290 TArTHS B SAESDH ERBHDHD

Which of the following 1s true?

& 1808 TAS® A& H8gH0?

Options:

Both (S) and (R) are true and (R) 1s the correct explanation of (S)
. (S) So8csw (R)3Bodr &g J0bosw (S)8 (R) 00038 JNded
1,

Both (S) and (R) are true, but (R) is not the correct explanation of (S)

2.

| (S) 30805 (R)Bodr 98550, 570 (S)§ (R) BOGHS 256w w6

(S) 15 true. but (R) 1s false

(S) Segdan, 570 (R) esdégdon

3

(S) 1s false. but (R) 1s true

(S) w8550, 5 (R) Hg50

Question Number : 46 Question Id : 4928631006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

List-1 List-1I
(a) Crab (1) Green glands
(b) Dugesia (11) Malpighian tubules
(c) Wuchereria (i11) Renette glands
(d) Scolopendra (iv) Flame cells

8od TEY uSHES0s

e - e - 11
(@) o (1) £58¢ Hodben
(b) ordvasr (1) SrdyRdhs To8w
(c) &wWobasr (111) 3R Hodoen
d) &HSwoE (1v) erqer Seoren

The correct answer is
D0 WoRN BaTew

Options:

@ ® © @
G G @ 6

@ ® () @
, @ (i) ) (i)

@ @O @© @
L, @ o @) D)
@ ® (© (@
Lx @O ) @) ()

Question Number : 47 Question Id : 4928631007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

List-1 List-1I
(a) Chelonia (1)  Alligator
(b) Rhynchocephalia (1) Chameleon
(¢) Crocodilia (111) Sphenodon
(d) Squamata (iv) Testudo

8o B wEHE[0E

erdar -1 e - 11
(a) &e*Aosr (1) edh&b
(b) 8o wITrdST (11) Sddsrs
(c) §'s&dasr (111) 2}0}5*:9'*5
d) agaoir (iv) 8K

The correct answer is
B8 eons 2aen

Options:

(@ @® (o (@
,x @O @) @) (@)

@ @® () @
- (iv) () (1) (i)

@ ® © @
L GG @

@ @® (@© @
LW ) o @)

4.

Question Number : 48 Question Id : 4928631008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Match the following
List -1 List-1I
(a) Each half of the lower jaw 1s formed by 6 bones (1) Awves
(b) Lacrimal and Harderian glands appeared for the first time (1) Reptiles
(c) Presence of only right systemic Arch (111) Amphibians
(d) Each half of the lower jaw 1s made of single bone (tv) Mammals

8o B 2BSBSBos

erder -1 e - 11
(1) Bod SIESV 98 wFeridin 6 ISWEVE BB (1) Hgoen
() orEd Hobosn FPooha Hodhen IS INESD (i) D6Sydren
(€) %azrd Todw SrEgd §0aSD (111) eefofboren
(d) BobsSE ©8 edwrrin o8 J5nsd FONSD (iv) §8men

The correct answer 1s
D8 Loy 20

Options:

@ ® © @
Ly o @ (v

(@ ® (@© @
, W) ) @) @)

2.

@ @® @© @
. () (@) @) (D)
@ ® (© (@
i) G @Gv) (i)

4 %

Question Number : 49 Question Id : 4928631009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Match the following

List-1
Organism

(a) Trypanosoma

(b) Euglena
(¢) Giardia

(d) Trichonympha

Bob B wSHE[0k

erdar -1
Ea
(a) EI8Frsr

(b) oSorhiar
() =dSrfos>
(d) E?SJD@’

The correct answer is

HD8 o0 eaTr

Options:

(1)

(i)
(iii)
(iv)

(1)

(i1)
(iii)
(1v)

List-1I
Number of Flagella

Many
2

erde - 11
ETe Jopg
S E

2

1

8

@ @® (o

G ) ()

@ ® (©

(i) Gv) (i)

@ ® (o

_, ) ) )

(d
@)

(d)
1)

(d)
(iv)



@ @® (o)
vy @@ (>

4 ®

(d)
(iii)

Question Number : 50 Question Id : 4928631010 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the flagellum is provided with two or more rows of lateral appendages and the axoneme
ends 1 a terminal naked filament, then it belongs to this type

@foH S0P G Ao7Tren ot BT wod¥ol IS SHBwS” wod, wiD

i

S0P o &d @o

Options:
Pantonematic
s Te TARPA PR ST
1 %
Stichonematic
-:\:' 50335
o R
Pantacronematic
FOLTIEF VIS
2
Acronematic
DEQSreSE
4,

u

&g SoHYm woddodog §TEIER) M0N0

i, }

Question Number : 51 Question Id : 4928631011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Statement (S) : Mechanical vector merely transfers the infective stage of a parasite.

Reason (R) : Inthis vector a part of development of parasite takes place before it gets
transferred to another host.

Tgmg (S): oro@E TErEsw Blesn HTHRD FoELE dFoH S BoHod

80 (R): & T8 EJS° HoHED H088 £J8 SoENoBS'Y Fod wdIE Voo

Which of the following is true?
& 1808 TS B DEgH0?
Options:
Both (S) and (R) are true and (R) 1s the correct explanation of (S)
(S) So8cko (R)Bodr Héghn Sodaw (S) 8 (R) S0%08 D8

Both (S) and (R) are true. but (R) is not the correct explanation of (S)
(S) S080iy (R)Bodr 250, 50 (S)§ (R) 205308 Dd8ee 5o

(S) 1s true, but (R) 1s false

. (8) d855w, 50 (R) wddgin
2

(S) 1s false. but (R) is true

(S) ed&gdn, 50 (R) S8gh

Question Number : 52 Question Id : 4928631012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following;
List-1
(a) Cytozoic parasite

(b) Coelozoic parasite

(¢c) Histozoic parasite

(d) Hyper parasite

§ob TE 2855508

o -]

(@) 8o o7& £

(b) HT6 Hoody &

(€) oo Jo°F) €D

(d) o8 S £

The correct answer 1s

D8 Lo 2T

Options:

(a)

(iv)
1. %

(a)

(i)

(a)

(a)

L (i)

(b)
(i1)

(b)
(1)
(b)
(iii)

(b)
(iv)

(c)
®

(c)

(i1)

(11)

(c)
(i1)

(d
(iii)

(d)
(iv)

(d)
(iv)

(d

List-1I
(1) Lives with i the cavities of hosts body

(1) Lives between the cells of the tissue and
organs of the host

(111) Lives within the hosts cells

(iv) A parasite lives in/on the body of another
parasite

o - 11

(1) ©@&Fown 68 Loiowes® LIFow

(1) Seereorod™ e H0¢g oo vichare gy
EJIT 0N

(111) ©&Fow Swro S*He LaFow

(iv) 28 DTS 2D D0/ DS HGE HTF) £ Lloth



Question Number : 53 Question Id : 4928631013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Identify sequence of stages in the Golgi cycle of plasmodium vivax.
a) Schizont

b) Amoeboid

c) Trophozoite

d)  Signet-ring

B0 E) G§8e WESD (MYBESW)S® IR DG S¥o BBBS SEBEST)

d) woi9E &%
Options:
c—d—-b—a
1.9

a4 —3C—» b—xd

- a—sb—a¢—d

-3¢ -39 -35h
4 ®

Question Number : 54 Question Id : 4928631014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Cockroach has ‘superposition vision’. This type of vision has the following characteristic
features ‘EXCEPT"

& 1808 TRS' 2 wfdn Q08 D) JridVeAN |PR8N0rIE Jo0HoAIE 5

Options:



It generates a blurred image

20 O3] (H8Dor) JEYBoER
1. % N

2 %
The ommatidium receives light not only through 1ts own cornea but also from adjoining
ommatidia

HEIEroFin DESLOD o SIS 5708 8ol sROT (HE) S I e oFY

HELLwo Lod IS 5708 o S {orazon

It produces Mosaic Vision

2 Jo0eron§ RAH0rR) A
3. v

4 ®
Superposition image is formed in the dim light and these images are formed in
nocturnal insects

B FPRUS ©8Dowo Jedad S8BT GHDYE TGN SLT RS J8yd

Question Number : 55 Question Id : 4928631015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In cockroach, if the sub-oesophageal ganglion is damaged. which part of the cockroach
1s affected?

THoES® oFuird TIE & 208 BEFoST Q S HOT HIVaDHE
Options:

Abdomen

& (5500

1 %

Ommatidia

S|BPoT e



Wings and legs

T8 w0 38030 51%
3

Reproductive organs

D588 wHSToT 00

Question Number : 56 Question Id : 4928631016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the correct statement with reference to the nervous system of the cockroach
a)  The nervous system of cockroach is called as Autonomous nervous system

b)  There are 3 thoracic and 6 abdominal ganglion

¢) Sub-oesophageal ganglion controls the movements of mouth parts

d)  The 6% abdominal ganglion innervates the 6% abdominal segment

a) @08 TG Dok PO TRE FE JEY O BrE 2T 088
b) & $5598° 3 SEEBoghen $8asn 6 SBTTE Sogenciron

¢) of a8 TE 576 H0d Ferie 80808 oo
d 635 G858 %08 65 &ESPoderds Tdey JHB0STFatnB

The correct answer 1s
éﬂ@o;ﬁ SR LTI ON

Options:

a.d&c

1. %

a.b&c
2

b.c&d

3 ®



d&b

Question Number : 57 Question Id : 4928631017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In an ecosystem each organism occupies a particular place and has a functional role and it
is known as

o darddm SRS’ ©8 22 o8 PAY0S’ JGETroD BoSrS)E FG ooirdd

Options:

Habitat

€977 0 sl

Ecotone

Q&%

Ecological Niche
E2TSbe S
3. ¥

Ecological Pyramid

(T4 o

T 582 &

£

Question Number : 58 Question Id : 4928631018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



With reference to temperature adaptations, identify A, B. C of the following graph

e (o vdbroro urdom & §od [radod A, B Hoddin Codo fgowhdn

- A
2 2 P
= 18 B
E 0
ey ﬁ;w
External level
Options:
A B
Regulators Partial regulators
BSostdoen rEEE S e
1 &
A B
Partial Regulators Regulators
T EEESos S0 Edosedoe
2 ®
A B
Conformers Regulators
DS e P lale STV Baosrdows
= v
A B
Regulators Conformers
o5~ Soen 20T

4 ®

)
Conformers

wdoSdds e

B

Conformers

woIgIs e

C

Partial regulators

FES s o

C

Partial regulators

FEE BTl



Question Number : 59 Question Id : 4928631019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The following equation describes the exponential growth of a population

& 1808 TBS® Q DB H0 IFTINDS (Hraol) )8

o

TreT 8o e BIrWoTN

&

Options:
dN C—_N
MRS S
dr K
1. %
'N
rN = d
dt
2
rN = drr
. dN
dt _ R
, dN ~ K-N

Question Number : 60 Question Id : 4928631020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following
List-1

(a) Villikinin

(b) Secretin

(¢) Gasirin

(d) Cholecystokinin

Bod TEQ =EHSTod
e -1

(a) DIBIS

(b) ES

() Mm@

(d) SOIFTIIS

The correct answer is

o8 oS 2ar

Options:

@ ® ©
i) @) )

@ @O (o)
- (u) (@) @)
(@ @ (o
. i) (@) (@

@ b (o
Lo ) ) (i)

(d)
(v)

(d)
(v)

(d)
(iii)

(d)
(1v)

(11)
(iii)

(iv)

(1)

(11)
(111)
(1v)

List-1I
stimulates the secretion of HCI and pepsinogen
stimulates the secretions of H,O and HCO;~

stimulates intestinal epitheliar movement to
increase nutrient absorption

stimulates the secretion of pancreatic enzymes and
bile juice

rdar - 11
HCI 508080 Dd'se @othoss (2020w
H,0 %0805 HCO5; o Hlowiado [wdnoihso

a

DS FIPe o (P000H8

EJ_LL'»

0 JoTZawew DB PEIEF) (PIWET
DonowI0

o aim



Question Number : 61 Question Id : 4928631021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Partial pressures of O, and CO, in systemic vein carrying deoxygenated blood are

BIrERES D BBadETESEost 0, 805 CO, © F§E bicen & dPom Godsd

Options:

95 & 40 mm Hg

1 &

40 & 45 mm Hg
o

104 & 40 mm Hg

3 ®

120 & 80 mm Hg

4 ®

Question Number : 62 Question Id : 4928631022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

When blood vessel is injured a number of physiological mechanisms are activated that
promote hemostasis. Identify the correct group from the following

28 SETESn mabRsYd I8 BEESchogrores S§ES s (Farghl) SSo
BESgHK%0. (Bod TAS® B HOTHIS

=]

Options:
1. %

Vasoconstriction. increase in colloidal osmotic pressure, tissue fluid formation

SETEH0E Sh0, FerondS ((TDdde addhin Wdkhe, Snere (G550 JEE

Platelet plug formation. tissue fluid formation. lymphocytes action

. woiie HLE :Jfﬁgdéoéa Bevare (D300 bdﬁj@@* @Uﬁ?j@@ﬁég
5 =



Vasoconstriction, platelet plug formation. production of web of fibrin protein

SEoY JoB W0, vwdly AT L’Jéﬁjcéaria, 201 FEhe So bdﬁjcéorb
3. v

4 %
Production of web of fibrin protein, plasma protein formation, tissue fluid formation

P @‘*éﬁé e Ddgdaéaj i?:ﬁﬂé@“éﬁﬁ Dd&iﬁaé&? Seoere (555w bfﬁgcéoéa

Question Number : 63 Question | d : 4928631023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Statement (S) : Urea-excreting animals require much less water than the ammonotelic
animals.

Reason(R) : Some amount of urea retained in the medullary fluid of kidneys help in the
maintenance of desired osmolarity.

Fgog (S): GO Oir QDGO BHen WFTSEOE EPHoET) S8,S A BHISBHM&D
8o (R): DFED0EI0S'Y SIS (S0 SYATSE 03805y Qe0STEFR
T8 IS ol EHHEEE0Lron

Which of the following 1s true?
& 1808 TS’ B DSgH0?
Options:
Both (S) and (R) are true and (R) 1s the correct explanation of (S)
(S) S08ciw (R)Bodsr &g Ho8ow (S) 8 (R) 985308 Db

Both (S) and (R) are true. but (R) is not the correct explanation of (S)
(S) So80%w (R)Bodr degi0, 50 (S)8 (R) 508308 D80 500

o
(S) 1s true, but (R) is false

(S) d&gdn, 570 (R) 0S50
3 %



(S) 1s false. but (R) 1is true
L (S) eddgdn, 50 (R) &gl

Question Number : 64 Question |d : 4928631024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following
List-1 List-1I
(a) Uric acid crystals m joints (1)  Arthritis
(b) Inflammation of joints (11) Auto immuno disorder
(c) Myasthenia gravis (111) Tetany
(d) Prolonged contraction of muscle (iv) Osteoporosis
(v) Gout
& 15od TED 2dBrdydn
e - 1 erde - 11
(@) SgHodon ohrdsdy Dyiisen (1) @@éﬂﬁ:
Dot
(b) 8gcsody S 28 (1) Dgodo SHATEE Dy
(€) SooHPRcsr [TID (i11) Gooego
(d) o0& BosE HoFaren (V) spBrIFERD
v) 78

The correct answer is
D8 wond 2arew

@ o (@ @
§ @wv) @ @@ W

1.



(@ (b

Lo ™M @

@ ()

L, @)
>

@@ ()

L VW)

(c) (d
(i)  (iii)
(c) (d
v) (i)
(c) (d)
(i) (1)

Question Number : 65 Question Id : 4928631025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Statement (S) :
Reason (R)

g (S):
s8wo (R):

Cerebrospinal fluid serves as shock absorbing medium

Cerebrospinal fluid is recycled 4 times per day in order to clear out
metabolites and toxins

rirgarere Lod S8oTdrggoomr DAV

SoRy o (BHB50 HBGE~ 4 T JH:HE0 Dabe ey Tgor £
L1

4
&i}-’gaﬂm Slefouth) ﬁﬁﬁﬁ“qﬂ“m "eflodedosron

Which of the following is true?
& 1808 TS QB DEgH0?

Options:

Both (S) and (R) are true and (R) 1s the correct explanation of (S)
(S) Sodcsn (R) 3ok &g Hododa (S)8 (R) 20 Dndes

1 %

Both (S) and (R) are true, but (R) is not the correct explanation of (S)

(S) 50805 (R)Bodr 8550, 5 (S) & (R) 50508 J58m 5

o

(S) 1s true. but (R) 1s false

(S) 8550, 59 (R) w5855

o R



(S) 1s false, but (R) 1s true

(8) edd8gbn, 50 (R) S8zl
4 #®

Question Number : 66 Question Id : 4928631026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the following hormone response signal transduction pathway. recognize A and B
& (Bod HTpd0 W8y ofogroi) DS EraydEad” o A $o8din B oo Hohdn

epinephrine JLJHw

plasma membrane Jrarjécdo

\ adenylate

cyelase
&0 e
G =

protein kinase - A protein kinase - A

@85338-A @ESTIE-A

ke
glycogen —— glucose
5B —— Ars'o
Options:

A - Epinephrine Receptor. B - GTP
A -J53pe rEgo, B-GTP

A - Epinephrine receptor subunit. B - cAMP
A - ADIPS [rHTEY 38505, B - cAMP



A - Gprotein, B - cGMP
. x A-G@as, B-cGMP

A - G Protein, B - cyclic AMP
A A-G@PFES, B-Soch AMP

Question Number : 67 Question Id : 4928631027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Statement (S) : Natural killer cells form the body’s most important cells of defense and
they destroy the infected cells or altered self cells in an antibody

independent manner

Reason (R) : The reaction time of NK cells 1s fast as they are always in an active form
to identify and destroy even small cancer cells well before they form a
tumor

Fgwg (S): Qirarods Seoren QrdEnns” & Sopgserren N 2l YoEls

$00050 SrdnBobd piohEere AdTMed HEoGRaBrS HE8S” P
8mo (R): Sradrods e Uy o Hodadn s 555 el 8o

T8 TEdo T Lrgiobenr THor ot

Which of the following 1s true?
& 1808 TIS® A8 HEgH0?
Options:
Both (S) and (R) are true and (R) is the correct explanation of (S)
(S) Sobcio (R)Bodr &gl Sobodn (S) § (R) 908308 D8
1. %
Both (S) and (R) are true, but (R) is not the correct explanation of (S)
(S) So80%0 (R)Bodr QeEga00, 57 (S) 8 (R) 205308 8 580
o
(S) 1s true, but (R) 1s false

. (8) d8gdw, 52 (R) eddgin
3



(S) 1s false. but (R) 1s true

Question Number : 68 Question Id : 4928631028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following produces testosterone?

DYRT D PDoHID AD?
Options:
Primordial germ cells

PEanE Degearen

1. %
Leydig cells

- O&A Eearend
Prostrate gland

- FréoRiod
Bulbourethral gland
2SNFBVES Hod

4 ®

Question Number : 69 Question Id : 4928631029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

List-1 List-1I
(a) LNG-20 (1) Oral contraceptive
(b) Saheli (1) Useful to detect genetic defects
(c) Ammniocentesis (111) Infrauterine device
(d) VagmalRing (iv) Prevention of conception

Eod T8 2SHEB0E

ardee - 1 e - I
(a) LNG-20 (1) r‘iﬁa‘:cﬁﬁ‘éé SRR
(b) $o© (1) edogdtdrer MBowbd" & &dda
() Gy Bs088 (111) fopdalrodt o
(d) Srldewciho (1v) HE e G50

The correct answer 1s
ol o 2arew

Options:
@@ @® () @
L ()G @) ()

(@ ® (© @
Ly W) ) @ @)

@ @® (© (@
() @) @A) )
z

@ ® © @
() @) (@@ @)

4 %

Question Number : 70 Question Id : 4928631030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following

List-1

(a) Holandric genes

(b) Multiple effects of a single gene
(¢) Skin colour in man
(d) ABOBloodtypes

Bod TEI aEHEBos

e - |

(@) SFerodf adogden
(D) 28 =g w88 ) S Syigsrarodo
Sarddo Dotk

(€) SrSSTGHFH0
(d ABOdgSSoen

The correct answer 1s

D8 LoNS 23w

Options:
(@ (b
L () (i)
1.
(@ (@b
(v) (i)
o ®
(@ (b
_ o (i) @)
(@ (b
i) ()

4

(c)
(i1)

(i1)

(c)

(1v)

(d)
(iv)

(d)
(iii)
(d)
(1v)

(d)

(111)

(1)
(i1)
(iii)
(V)

(1)
(11)

(iii)
(iv)

List-1I

Pleiotropy
Hypertrichosis
Multiple Alleles
Polygenic mmheritance

aﬁ*&@oﬁwﬁéﬂé%m

2eT0RS Eﬁoggr‘ﬁ.‘:a’m &

Question Number : 71 Question Id : 4928631031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Chronic Myeloid Leukemia (CML), a type of blood cancer. is caused due to

E°N8 oerond wogBandir (CML) e $¥s$H)8 6 jdbs 578 s
Options:
reciprocal translocation between chromosomes 9 and 22
9 208080 22 FRrE S0 e FIrodd DT Sy
1. v :
chromosomal inversions between chromosomes 9 and 22
0 508csw 22 F'3rStiwen doBodordy (inversion)
o %
chromosomal translocations between 8 and 14
8 080w 14 Fars’sne sy FT088 Sy S0
3 ® '
trisomy

AP
4 % =

Question Number : 72 Question Id : 4928631032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Identify the sequence of steps in DNA finger printing.
a) Isolation of genomic DNA

b)  Separation by electrophoresis

¢) Denaturation of DNA

d) Hybndization with probe

e) Fragmenting DNA with restriction enzymes

f)  Southern Blotting

g)  Exposure on film

DNA 20ii6 @olloh Bwg), D0g08 I8 Bar) o
a) DNAZ 36 Bodod
b) JoEITID o I Voo
c) DNASiwrsd d8od
d (@S &8 TDR2AS
€) O@ES JoBes DNA poldsss
f) H&88 er3of
g) P E.ae.li_;u: REDoDoWL
Options:

a—>boc—od—oe—ofog

a—se—->b—oc—ofodog
2 v

a—-Cc—>b—ose—sdofog
z %

a—se—>c—o>bosfodog
E

Question Number : 73 Question Id : 4928631033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Statement (S) : Less than 2% of the human genome encodes for functional units called

‘proteins’
Reason (R) : Majority of the human genome is regulatory in nature
Tgwg (S): SrdS 200 Iwdgo adogPeS” 2% Fan) S5 S wdogHen @“éﬁéc‘ﬁ:}

D0BE™R) Q00

%&

8o (R): S5 ETDNE whEridn FErddomr ERIHDIET ok

Which of the following 1s true?
& 1808 TUS* A8 DBgH0?
Options:
Both (S) and (R) are true and (R) 1s the correct explanation of (S)
(S) 508050 (R) ok Hgsn $0a5» (S) 8 (R) $0gHS 2586
1. %
Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)
(S) H080i0 (R)Bodr ddsim0, 570 (S) 8 (R) 0508 D80 5o
o W
(S) 1s true, but (R) is false
. (8) Sdgdaz, 57 (R) eddgdon
)
(S) 1s false, but (R) is true
(S) od8gsm, 50 (R) S&gdw

4 ®

Question Number : 74 Question Id : 4928631034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Theory of Biogenesis was proposed by

DAFBIVD VT o) PEFHoAI TP I

LG

Options:



George Cuvier
aa'*g Ko oad
1. %
Louis Pasteur
[Phrlovey &%5
2
J.B.S. Haldane
JB.S. ?’.:“%35

o R

Von Helmont

. % TR rOIT0E

Question Number : 75 Question Id : 4928631035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0
Who 1s the ‘Cro-Magnon man’ ?
Erarin SoedHAr Deoodwdodd
Options:

Homo erectiis
e JBES
1, % N
Homo sapiens
FRrDHAD)
o ‘
Homo neaderthalensis

FEBTVTEE T D)%
3 %



Homo habilis

FFRr FDeD
4 %

Question Number : 76 Question Id : 4928631036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Seymouria represents the evolutionary biological link between the following organisms

SoHhgomne *hﬂﬁmﬂoﬁrﬂ 2 E2Hho Sogg SoFd ey :Ddojf?s )G

g

BIHHO
Options:
fishes and amphibians

- Doen oo Gifoindoren

amphibians and reptiles
Grefoodoren ofokn BOJyTen
2 v
reptiles and birds
ééﬁ;}ﬁ’ﬂﬁ 200cin Dfoew

reptiles and mammals

ﬁﬁ?&;}ﬂﬁm Bo8asw §8Tren

Question Number : 77 Question Id : 4928631037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

Surrogate mother is

Sorondd (Surrogate mother) esSm
Options:
The female that develops the offspring of another one in its womb.

v S HonIaidnd” FEL0TR) WG Fosn SO
1. ¥ = B *f



The male that donates the sperm to fertilize an egg

28 @O POdslmo Pl HESTro A PR

The female that donates the egg for fertilization

wodleobidndo &35 BOT ) TS0 DS [52.

Introduction of invitro fertilized ovum into the same female

rirgRebidn Sod IGHES DoaR) ©8 J Ao7Eohdnd'Qs 2bd Do

Question Number : 78 Question I d : 4928631038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Fungal disease affecting poutry 1s

S¢5 dogaos 3o T8 A6
Options:
Gumboro

Brooders pneumonia

2d 8y ogRTraosT

5 o (2a0® \J{J S
Infectious coryza

R WD §0ar

Ranikhet
o ey
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Match the following

List -1
(a) Firstclinical gene Therapy
(b) Transfection

(¢c) Synthetic oligode oxynucleosides

d PCR

Bod & 2EH8Bod
erfa - 1

(@) (@FEDE asog D8

b) EHHES

(€) 20388 sdFd w§Srgdard)

(d PCR

The correct answer is
58 Lo 2aew

Options:

@ ©® © @
e Q) G G @

@ @ (© @
. x (@) () @) (v)

@ ® ( (@

() () @v) @)
AR

@ © © @
L0 @ @ ()

(i1)

(iii)
(iv)

(1)
(i1)

(iii)
(iv)

List-1I
DNA Amplification

Introduction of genetically modified
DNA into a Eukaryotic cell

Adenosine deaminase
Silencing genes

arda - 11
DNA E:ﬂgﬁoe‘f’)ééeao

2805507818 BoboNd DNA & QeSoss
Ee00S*R HIF0DHTosned

ATV BIDIE
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Question Number : 80 Question Id : 4928631040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following
List-1 List-1I

(a) Ovaprim (1)  Anticancer drug

(b) o —1—antitrypsin (1) Used in the treatment of inflammation and
superficial burns

(¢) Taxoid (111) Inactivated exotoxin used as vaccine against
tetanus

(d) Propolis (iv) Used in the treatment of emphysema

(v) Used in induced breeding of fish

Bob T8 2EHES0s

erde - 1 erdea - 11
(@) aor@an (1) dSro&isdHd Tado (dg)
(b) o —1- SroSEEye (11) 398 &idde mairody, THos
SHBrATE
(c) érsyond (1l1) BrsS TEOIT IS SIBoriowh

ﬁb&oﬁ?é&é P gRIRE QG0
(d) @202 (Iv) QoHddr DEBE GHTrAoBE
(V) [be 8N prdold GHBrHothds

The correct answer 1s

08 oS 2am0

Options:
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Match the following entries related to fundamental forces and their manifestations

(a) Nuclear force (1) Electromagnetic interaction

(b) Force between sodium and (11) Gravitational interaction
chlorine 1ons in sodium chloride

(¢) Energy from the sun (111) Strong interaction

(d) Oscillations of a simple pendulum (1v) Weak interaction

TrE8 oren, T8 D08 JHbpods Do0dold §od woTwd 2dS8Todk

() o weo (i) DeghcsHaobats ©s

(b) F&oho §BES (1) fodosgad g
F&od0, §on woirde ey weo

(€) Jrdogd Sood 48 (1) Poe &g

(d) odnd’olo B GoTw (V) 2oors $8g

The correct answer 18
00 @O 2t
Options:
(a) (b) (c) (d)
L) G @ o
(a) (b) (¢) (d)
i) O G @)
(a) (b) (¢) (d)

G @ @ G
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Question Number : 82 Question Id : 4928631042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The length and diameter of a cylinder are measured to be 10.1031 c¢m and 2.0935 cm
respectively. The volume of the cylinder to an appropriate significant figures 1s

2.8 Do Bog), Fré, argddw H8dm 10.1031 cm H$odasn 2.0935 cm w0l FOQT.

wond, S g8 Dopgo HI% 0% Do B0E), IBdIrwo

Options:

139.04 cm?

1 %

34.76 cm?
>

134.75 cm?
3 ®

. x 4635 cny’

Question Number : 83 Question Id : 4928631043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A fly is in rectilinear motion as described by the graph. The average speed of the fly is

§ods aS (Y oS 2.8 Sl BPID Wodod’ &ob. Bond Sl Bwg), St &
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Options:

v 6.75 mv's

7.25 mv/s
o kS

10.15 m/s

o R

4.75 m/s

Question Number : 84 Question Id : 4928631044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A man of height 7.33 ft releases a stone from the slingshot just above his head. If the stone
travels in a vertical direction towards the sky with velocity of 10 ms™, then the time it
takes to reach the ground is (Assume acceleration due to gravity g = 10 ms—2)

b

:éﬂ

(3

Q8 7.33 ft o af 5004,

BE. & Tro, ALY &

00D M8 (slingshot) gor 2.8 Trond Jdode

ped

ol

S* e5¥03Y 10 ms™ 3K0s PoSrsdR, & oraw FrW

DEHFITA8 82FI swo, (Mg &idmo g =10 ms? w5 od)

Options:

1.6s

1. %
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A 90 N mass is hung on a rope tied between two poles as shown i the figure. The tension
T, and T, in the two parts of the rope are (in N)

D0 Erudipmr, Bod Yowre g HRoDS e 90 N o (@S550°30 Jerdba .

& Bws), ok rred’ GoG $538 T, 500050 T, Jendes $&0dm N o

Options:
180 6 180
3+l 2 74341

1.

90 6 180

. Bl 2 7«3

180 3 90

\/-57+1. 2 7 Wf341
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\/5-4-1. 2 \6
s
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Object 4 moves uniformly with a constant speed v to reach object B. while B in turn moves
rectilinearly with a uniform velocity of u < v. At the initial moment v is perpendicular to
u and the positions are separated by a distance /. The object 4 meets the object B at time +.
The value of *#" 1s

3839 4, 5839 B B8 36 38 vE DE6ET 5008, BEm BIhosom, Dsbe
3o U<V S FON0H. O Eo 3K V, U S 0o &otnod. I8 Forew [ Jded’

GIow. 3P 4, WP B 15700 & §enofotnod. ®od  Jend

Options:

Question Number : 87 Question |d : 4928631047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A rock of mass m 1s thrown at an angle o with respect to the horizontal. Assume the
acceleration due to gravity 1s g and that the motion of the rock is in the Y-Z plane. The
component of the angular momentum at time ‘¢ * in the X-direction is

G550°3 Mo 3, §8 J3r0dd A8 0800 Twinm VBT K. ke Stdwo g
@38, 3o Fodo Y-Z 008" ¢odosod. vwod X-835" ‘1 5700 3¢ S5 o> ($HgRro
GW0E), @O0

Options:
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Question Number : 88 Question Id : 4928631048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A block of 10 kg 1s sliding at an initial velocity of 5 my/s along the horizontal surface to the
right. The surface has a coefficient of kinetic friction 0.3. The distance to which the block
will slide before coming to rest 1s

(Assume g = 10 m/s?)

10 kg e &) O30 Sm/s &, §8a JHrodd dwo Job BEIYH THEH. 8 Swok
&8 THFI S*He vl o0 &rdo,

e

0.3 r@a Holee Moo wob. & &30 VF)

ey

(g =10 m/s? eS8 0é)
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If a spring of spring constant 200 N/m is compressed by 5 cm, then the energy stored in the
spring is

AL RS 200 N/m de avofass 5 cm K}oi}éﬁgé&: ST, ?\:;Jufﬂ:e.‘i"" éuﬁéﬁacﬁog
€ & s —ab |
38

Options:
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Question Number : 90 Question Id : 4928631050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The potential energy function for a two dimensional force is given by U = 3x3y — 7x. The
force that acts at the point (x, y) is

(Take ; andf as unit vectors along X-and Y-axes)

Bo8oh werdd Peedl PHhsr U=3ry - Tx 3 o0, Dot (x.y) 3§ H@ D
o = cad. e — 2 3

280

(7 %8050 | oo X-500ckn Y-ope H8om Hdfeom 8:8K050)

Options:

R _.,’?f} A iy B ".
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Question Number : 91 Question Id : 4928631051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A uniform disc of radius R 1s spinned to an angular velocity @_and then carefully placed on
a horizontal surface. If pressure exerted by the disc on surface is regarded as uniform and
the coefficient of friction 1s equal to k. the rotation of the disc will come to a stop in time
t. The value of ¢ 1s

Tg>gSn R ol 808 HgH, §'fah Mo m, STt ed) @hoo Dowod, ST
T g™ §82 I5rodd Swon GOATEH. oo © AP I wESo e
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A hollow sphere of radius R is suspended from a thin rod. If the sphere 1s twisted by a small
angle about the wire axis and released. simple harmonic oscillation (SHM) will ensure
with a period of t,. Now. if the hollow sphere is replaced by a solid sphere of radius and
mass equal to that of hollow sphere. the SHM will have a period t,. The ratio of time
periods (1,/1,) 1S

FrgFrgan Rito w8 Ho Ferd) Heodd é% S0 JerdboTd. s Feq), 8 vfo Job,
a8 oy oo oo 08Dy 6O SR, 8385 oo T, 8 S8¢ Ford)E FoTren
bé&é@“m. 2P, © My F¥o TS, T Tgdrdo, G508 JSrdon NIT Q)
&oN8, 0¥ rord)f YoIrds o8 wddd sTwo T, @PHHod. P s T
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Question Number : 93 Question Id : 4928631053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Two clocks 4 and B are synchronized to show the same time on earth. Clock A4 1s based on
oscillations of spring and clock B 1s based on a pendulum motion. If these two clocks are
taken to the surface of the moon. then

Body K&csroren A 58050 B o, &rds ool a8 5 DD 0D Do WE5dESmo
Daard). K8dsr8So A @38 E\}Joﬁj FoTon sddddod, dwsrdo Beldd S'olo
ﬁ&:éu_}':_} G0, & Bodo HGddrorody, Holod éﬂ:’@o;_‘:eg @m@g



Options:
B will run faster than A

Be3d& Ago8 SIrom JHATN0H
1. %

B slows down compared to A

B. A%08 3506 ST
2. ¢ =

Both will show same time and run at equal rates

Sodr e35erd) drdd:, BSrStnes” AT
3. ® =

A will stop working however B will continue to show time

A 3QBoDho shFHod, B rerd) Sordds H3Bcho FIradyod
4. % ;

Question Number : 94 Question Id : 4928631054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

A satellite 1s launched to a distance » from the centre of the earth to have a circular orbit
around the earth. Its orbital velocity to maintain this orbit is (mass of the earth as M)

28 Y85 GHHIR), Erioo oD 1 Erdod’, Frd by HEEd E8gS” 88RLM
RArADTH. b & Ei’S GodTR8, 5w SgrgAfo, ($rdy |$dgoe M)
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Question Number : 95 Question Id : 4928631055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Abar 1s made up of material whose Young’s modulus is E. Poisson’s ratio y and is subjected

AV

to hydrostatic pressure p. The fractional change in its volume [7) is

AV
P& SR BITE. 70 $od905r008" HaE ¥ S8 [ 7 } DO

Options:

o % £
3pH
:spE

3 %

+3puE

4 #®
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One ton stone is put on a larger piston of diameter 40 cm of a hydraulic lift and a
pressure P has to be applied on the smaller piston of diameter 2 cm, to lift the stone. The
pressure P, 1s approximately

w8 T Eds @@ Sog), 40 cm Trgdo ) 33 2

’.}
ED:.
E‘Eﬁ

2.8 a S & a8 L&) T°owd
G0N . 2 cm Jrgdo Ao DHBS PSS S, & cod IEE 08, vdSe P &

©$580HVoDBON SQ0d. & 2ddo P Iend Ddrdm

Options:

2 atm
1. %

0.2 atm
W

. 1.2 atm

. 0.8 atm

Question Number : 97 Question Id : 4928631057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

A body cools from 80 °C to 50 °C after a time interval Az. Assuming that the surrounding
temperature is 20 °C, the temperature of the body after time interval of 2 Aris

o Hg50 Af 888 S99 80 °C Sood 50 °C & 38988mo rododod. H0dT o
&Z(S 20 °C oM0Fd), 5050 2 Atdhard S0Y s iid Jeod

—

Options:

, 30°C

, » 40°C



Question Number : 98 Question Id : 4928631058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Consider a ball of mass 100 g attached to one end of a spring (4= 800 N/m) and immersed
in 0.5 kg water. Assume the complete system is in thermal equilibrium. The spring is now
stretched to 20 cm and the mass 1s released so that it vibrates up and down. Estimate the
change in temperature of water before the vibrations stop.

(Specific heat of the material of the ball =400 J’kg K
Specific heat of water = 4200 J/'kg K)

Gdgoe 100 g o 2088, k=800 N/m e (ofis GooE), ws P $ndow, 0.5 kg 83s*
D00ATE. & Iwdgo Sg3 &2 PN ES” GodduFod. & R)Jofbc‘fD [P 20 cm
= s @ C

o FHER, (Bh50°3 (208) D8, 8ok éoi}ofié&@m TR 58erdd. & odHSo s8AFTI0S,
A8 SFUSSR St B owodw.

E3
(208 dorg J3FRo =400 JkgK
& D3FDRo =4200 kg K)

Options:

8.2x10*K

1. %

6.4x10°3K

o ®

TAx 1P K
3

59%10° K

4 %

Question Number : 99 Question Id : 4928631059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Two carnot engines 4 and B are connected in series in such a way that the work outputs are
equal when the temperatures of hot and cold reservoirs of A are 800 K and 7. and of engine
B are T and 300 K, respectively. Then the temperature T is

Botk srEohogren 4 $o8csn B o, T8 ) wendder dSrddorodinm @8’
eddorio BT, 4 BnE), 36, Jd sddreo Gider S63m 800 K Sodain
I'sr, B3wg), efideos Tododn 300 Kwow eaman. edfifid T deod



Options:

. 400K

450 K

Question Number : 100 Question Id : 4928631060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If a kilo mole of methane gas weighs 16 kg. the density of methane at 20°C and 5 atm
pressure 1s
(Use R = 8314 J/’k mol-K)

0.8 865° IS BRI Trony 08P 16 kg @ond, 20°C S06csn 5 atm HESo 58 PR
Frog (R =28314 J/k mol-K e&o8od)
Options:

3.33 kg/m’®
Lo 33 kg/m

48 kg/m?
3.3 % 107 kg/m?

1 kg/m?

Question Number : 101 Question Id : 4928631061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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A standing wave pattern can be represented by an equation like

28 Q8 SBoi FgrQ) & §od IPom &od DEE0E" HrDOWSW)



Options:

; y(x.1)=24sin (ke —or)

y(x.t) = Asin(kx — ar) + Acos (kx —wr)

2 %

(x.1) = Asinkxcos ar
3. ¢

y(x.1) = Asin(kx + ot ) + Acos (kx — ar)
4 %

Question Number : 102 Question 1d : 4928631062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A diver, 30 m below water surface is trying to shine a torch light towards the point O which
is horizontally 30 m away. The amount and direction in which diver has to swim (in the
figure) so that the light can not travel outside the surface of water is

(Refractive index of water= 5}

P8 &H8ger08 30 m HXDS ﬁrcfﬂ_ .8 SEmdy, §82 Ddrodor 30 m Srdoes” ﬁrcfﬂ_
) & 5068, oudderds oibtde
RR00WH0E Godirdl Sdmrds Josdrdo, DB SEB588?
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Options:



4 m to the left
SdS0% 4m

1. ¢
4 m to the right
68 4m

3.5 m to the right
&8s 3.5m

3.5 m to the left

Q0% 3.5 m

Question Number : 103 Question Id : 4928631063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A beaker contains oil upto a height of 28 mm and water upto height of 26 mm. Find the
apparent shift in position of the bottom of the beaker when viewed from the top

(Hge =1.33,55 5 =14)
w8 D8 28 mm Iy S Seodode, 26 MM I SR ALY EBH wod. B ool
DoDSH G, DES edorberio FI0S" EANOT Syfgdord Japddo,

(Me4,=1.33, nz,,=1.4)

Options:

% 54 mm

32 mm
> B

28 mm
3 ®

14 mm
4



Question Number : 104 Question Id : 4928631064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

In Young’s double slit experiment. two slits are made apart at 3 mum and the screen is placed
50 cm away. The fringe width when light of frequency 5x10' Hz used is

(Given ¢ = 3x10% m/s)

ol 2ok WO PAErHod’, Bod WO Ado 3 mm s 38 50 cm o Srdos’
oI, FdeDdg0 5x10% Hz e 50083 FESOYE Déﬁj& Lé} Iy,

(¢ =3x10% m/s)
Options:
0.36 * 10m

_— 1 x 10~*m

2.77 % 10*m

o R

1 *x 102m

4 %
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Point charges +q and —q are located at the vertices of a square with diagonals 2/ as shown
in the figure. The magnitude of the electric field strength at a point, located symmetrically
with respect to the vertices of the square at a distance ‘x’ from its center 1s
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At a certain moment, the switch shown in the figure is disconnected. The energy of the
oscillations immediately after the switch S” is disconnected and at time 0.1 sec from the
time switch is disconnected are. respectively

D0 L R}"m ‘ST 8o sédard. wm BE0J Jobrd, Hodasw

€5 EHhad 6 H3 oo ¥§ dended S,

& 10 |
I — 100 mH
9 Q 10 uF
Options:
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A DC source with internal resistance R_ is connected to circuit as shown in the figure. The
value of R for which the power generated in the circuit is the maximum is

m, ®od8 TG0 R Ho o8 DCadsq) Soddrldd 0. dedhod”

‘,{Q_
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ey ardodsdn HoQoreots R Jeod
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Options:
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The current passing through the AB branch of the circuit shown in the figure is

&

HLoS” drad Jocho Sy AB T oo Rdarowd J&
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A steady current / flows down a long rod of radius ‘e’ in such a way that its current density
J = ki’ ., where kis a positive constant of appropriate dimensions, ‘ is the radial distance

from the axis and 7 is the unit vector along the radial direction. Then the magnitude of the
magnetic field at any point r (7 < @) inside the rod 1s

2.8 PHIS é% (rgrdo “a’ Hod) Job a8 Jusd ISgE)Tdro I JdgETd Fodd
J=l¥ “oRLELT™ PIH08. afd, k@38 SAS Jden do FadE Jorodo,
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Consider a negatively charged particle moving with a velocity v in a magnetic field B
applied perpendicular to the plane of the paper (into the paper). The particle follows the
path A or B or C or D (shown 1in the figure)

5NED) SR8 woor™ (570 HD8) @ohBodBNS echan od o B&, af wwesddd
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The magnitude and direction of a force vector acting on a unit length of thin wire carrying
a current / at point ‘O’ if the wire has a semicircular shape of radius R as shown in the
figure.

B8 HLroS® Jrhd esedo, R argrgSoonon t:?ﬁjégs.mé Doy ‘O 38, IQ&JS@JJ‘“S’}'@Q}_
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Consider two coils of radii 7, and r-,. placed at a distance ‘d” away as shown i the figure.
Assuming the length of the cmls L. 1, >>d with n,. n, the number of turns per unit length
of the two coils respectively. the uluma] 111d11ctauce of the two coils 1s
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A series LCR circuit with R =43 Q and L = 0.5 H has a leading phase angle of 45° at a
frequency of 50 Hz. The capacitance used in the circuit 1s

R=43 Q%50c50 L=05H& ¥ @3 LCR Seckho, FS:dhdgo 50 Hz 5¢, Soododrid
&80 45° 08 a8, @ J0dhod” TS TTVBS) Jend
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The permeability of a medium whose refractive index 1s 1.5 and permittivity is
443 x 10" F/m is

H8LSS oevdo 1.5 Sobosn HOYEDE 443 x 107 Fm A 2.8 oSrsEy 20)c00dE dend

Options:

1.26 x 10° H/'m

- 0.26 * 107° H'm
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1 uW of light at 600 nm falls on a metal whose work function is 2 eV. The maximum
number of electrons that can come out of the metal is

I Pooo 2 eV e o o, 600 nm fo 1 pWeo 508 38850 Boddiod. @wond

S750 000 wohLB IdB JoFde 0L Sopg
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A stream of electrons accelerated by a potential difference J falls on the surface of a metal
whose inner potential is ¥, =15 V. Then the refractive index of the metal for the electrons
accelerated by a potential difference of V"= 150 Vis

FBINE @ V& &880 DodS o8 JOFS &Y, wodd FBISHS V=15 Ve
S GH0Sw0ow D&0d. wand, FBICHS éﬁ‘ V=150 V'3 &cddo Dobad o‘]ﬂ@;?ﬁ)ﬂ&*
e SUrY S8YSS Hoeedo

Options:

i 1.05

Question Number : 117 Question Id : 4928631077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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A hypothetical radioactive element has a half-life of 20 years. The time it takes for 80% of
the substance to decay is

(In5=16,1n2=0.7)

2.8 éﬁé@sé%&ﬁr@“ﬁ&é Soroso vfEdd oo 20 Jodyoren. & Sergo 80% Zohdorotoso
SISO
(In5=1.6.In2=0.7)
Options:
30.6 years

30.6 QoS o0

45.7 years

45.7 Sod8oren
2. ¥

60.3 years

60.3 Sodgyoren

80 years

&0 DoIT o0

Question Number : 118 Question Id : 4928631078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Determine the current passing through the diode D, in the circuit given. Assume these are
Silicon diodes.

T°00° [DITr0W IBGE)TH) AgonoFod. 1l WITS

3

_'ﬁtj{‘ﬁ Segsoes Ecﬁjﬁﬁ D2

JGrbod @086,

&n

D, 3.5 KQ
H AMNAN —
15V —/ VA
—\WW\
1.7 KQ
Options:
4.2mA
1. #®
8.8 mA
= ®
7.8 mA
=
9.7mA
4 ®

Question Number : 119 Question Id : 4928631079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Two p-n photodiodes are fabricated from semiconductors with band gap of 2.8 eV and
2.6 eV, respectively.

28 PO SHdm 2.8 €V Hdcsw 2.6 €V o efarirstod Bod PNl P& $Rr&od
B owdo.

Choose the correct statement from the following.
B0l SrES 0N VTS VHTpd JowEok.
Options:
Both diodes will detect 460 nm light
Soth d3r&en 460 NN 57080 iAo
1 &
First one will detect 460 nm light
. 2006886 460 nm so&Q ol
2
Second one will detect 460 nm light
Boddd 460 nn 5080 N8OS
= v
Both of them will not detect 460 nm light

Bodr drz 460 N 5708 HBoWUSY
4 %

Question Number : 120 Question Id : 4928631080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

If the maximum and minimum values of an amplitude modulated signals are respectively
5.9 V and 1.2 V. the modulation index of the signal is

G N H808 Eﬁ:"éjgi’j&g 29008 Do8So Cﬁ.‘oézr ﬁﬂ%}.? éﬁ:& dengen S&hm 5.9V 580500
1.2 Veona, dosdo 008, ;’13155055&5 e

Options:
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1. ¢

47%
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83.09%
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Question Number : 121 Question Id : 4928631081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The radius (in pm) of the 37 orbit of He™ is Li%* is respectively

He™ Sodoso Li** 35 885 argrgo (pm o) S

0

Options:

| % 476.1 , 158.7

- 238.05 , 158.7
(.529. YIE63



17.63 . 176.3

4 ®

Question Number : 122 Question Id : 4928631082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The wavelength, (in nm) of an electron moving with a velocity of 812 m s~*
(mass of electron =9.1x10! kg and Plank's constant = 6.626x107** Js) is approximately

812 m 57! 3KoS® LO0T JoFS $8ohBEgo (NN ©e) Lodredorr
QoS Bigors =9.1x1073! kg $o0cs0 apof QUL = 6.626x1073* Js)

Options:

626

1 %

347

2 ®
2 % 978

A 897

Question Number : 123 Question Id : 4928631083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Which of the following elements has the largest atomic radius?

Bod Horosos® TS ©8HE D0 Eﬂﬁﬁgﬁwomoﬁ‘?
Options:

Pm

1. %
. % SM

Eu
3 v



Question Number : 124 Question Id : 4928631084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statement 1s not correct?

Eod DSEOS’ I8 HBBXE 5°&0?
Options:
It is difficult to separate the mixture of Lanthanides
TrodIbe DoFsr) 38 Dosnd EHSw
L ) >
The size of Zr 1s nearly equal to Hf

Zr e HE Do ooordil SSS80
2 ®

The basic character increases from Ce to Lu
Ce Soo& Luse §78 &80 darodo
3¢
Lanthanide contraction is more significant than actinide contraction

@%Eﬁ 008 HH0 ol erodI3s D08k NEVRY @‘-'C;?Eﬁgé Hed
4 %

Question Number : 125 Question Id : 4928631085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Bond lengths (in pm) of C —H.C —C.C =C and C =C bonds, respectively are

C-H.C-C,C=C %0ain C=C 2057 20630 gen (pm os®) S&bH4

Options:

| x 120, 133, 154, 107

107, 120, 133, 154

> R



107, 154, 133, 120
3

120, 107, 154, 133
4 #®

Question Number : 126 Question Id : 4928631086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Identify the set of species having same bond order

D3P oY NS o ardiod 8otk

Options:

BE . NE n OE
1. %

+

N, . N5 , F,
o W

oyt

OE BQ s FE
3 v

. +

o, B, ., N
4 ®

Question Number : 127 Question Id : 4928631087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following plots is correct for the behaviour of ideal and real gases?

e Hobodon Auardinde IS Doodod Bod (Thod” A8 HBBXH?

Options:



4

PV

=y z —
« 273.15K d b _

He
B

ideal gas

ideal gas

real gas

¥ -5



Question Number : 128 Question Id : 4928631088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

A 10 litre cylinder contains equal volumes of H, and He. If the mixture is allowed to diffuse
from an opening, estimate the percent composition of the output gas.

(Assume ideal behaviour of gas mixture)

10 L 3rdHod” Sd0nd 2odd0drmoiio H) o0ddn He of Qod &b, & koo o8
Sogdw agor Trgddo Bohd wofobsy SNS JTrat Jododddnd B§)owod.

o

(oS0 DF5050 SEGTENYT B30 0ESE0a)

Options:

L 30% H, . 70% He

Question Number : 129 Question Id : 4928631089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Conversion of molecular oxygen to ozone takes place only to the extent of 15%. Calculate
the mass (in g) of ozone that is formed from 67.2 L of oxygen at STP.

w0 e§jud, LEIM 15% I88 Sr@d 0818 2hihdod. STP 58 67.2 L es§s
o0& QB LES $g0°E (g 0s®) J B oW
Options:

96

1%

64.1

144
3



Question Number : 130 Question Id : 4928631090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A fuel cell generates electricity by using methanol as the fuel and O, as the oxidant. Calculate
the equivalent weight of methanol.

2.8 Q0D PN, WEITSER RoGHHHN Hbddn O, %é&éﬂzﬁﬁ €O GTHo) D5
GG BB, NETS Sergof wro) B owhdw

Options:

16.0

1 %

L 333

¥

Question Number : 131 Question Id : 4928631091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

2 moles of an monoatomic ideal gas at 25 °C heated reversibly at constant pressure of

2 atm to a final temperature of 125 °C. Calculate the AH [CV = ER)

2

RBdSS0 2 atm 3¢ 23rdo 28 sdhTrasndso 25 °C Jodk 125 °C &), Soedosool

38 Brco. Al [c

Options:

500 R

1.9

v

RJ So B othodw.

b |



. —500R

2.

250 R
3 %

—250R
4 ®

Question Number : 132 Question Id : 4928631092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For the following reaction. K = 2x103

2A=B+C
Identify the correct statement for the reaction when [A] = [B] =[C]=3x10"*M

§ob wS8gse, K =2x107
2A=B4+C
[A] =[B] = [C] =3x10* M ooxndydks & £S8g80 2058308 Do

g
g
o
/

Options:

Proceeds towards the products

20 Boiraarge 39 adid
1 ®

Proceeds towards the reactants

28 Boiradso I 2HD
2. ¢ u

Reaction is at equilibrium

W$Eg QSR8 I8 GO

o @ wad

Reaction completed

S8g Il wondd



Question Number : 133 Question Id : 4928631093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

At 25°C. the concentration of PbCl, dissolved per cubic decimeter (dm®) of water is
1.62 %102 mole. Its solubility product (Ksp) at 25°C is

w8 B0 Bo&E (AmP) S8 &orh PbClLmes 1.62x1072 3. 25°C 54

T (TEsche ondn (Kyp)

Options:

1.70x107°
1. ¢

1.62x1072

o ®

0.94x10710

T W

2.3210*
E

Question Number : 134 Question Id : 4928631094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The gas produced when Zn metal 1s heated with aqueous NaOH 1s

e

n &*5Q) 2o NaOH & I8T035:9d Iensds o050

Options:



Question Number : 135 Question Id : 4928631095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The order of stability for the super oxides is

2rdd wBHhw REEr (EBodw
o @D

Options:

KO, > RbO, > CsO,

1 %

CSOE - Rng = KOQ
o

CsO,> KO, > RbO,

3 ®

Rh02 = KOE = CSOE

4 ®

Question Number : 136 Question Id : 4928631096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following is correct with respect to diborane ?

ASERB Do20H0D Bod FES' B HBFIB?
Options:
All B and all H atoms lie in one plane

o) B, H38Sr00Hen o8 0o’ dodran

o

The two B atoms lie in one plane. above and below this plane there are three H atoms
n each plane

Sody B H85rmoden o8 S0os” wod, & Soo §od Hordy H08oin & Hardd

H $8350remnd)enodran



3 #®

The two B atoms lie in one plane. above this plane there are two H atoms and below
this plane there are four H atoms

S0 B OGSreanden o 00" 408, & dwond Bod H H8Sremoden So00ks

& oo fod Trenrs H J8dreoenodion

4.

The two B atoms and four terminal H atoms lie in one plane, above and below this
plane there are two bridging H atoms

Boths B H8Srenden Ho8asn drenih @wodd H S8drmoder .8 dwods® &od, &

S0 PJ 0005w (Bod Bothy Hodd H Hddrmodwoiran.

Question Number : 137 Question Id : 4928631097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0



Identify the correct statements from the following
a)  Silicones are hydrophobic in nature

b)  The repeating unit in silicones is

c) InCg molecule, twenty Cg rings and twelve Cs rings are present
d) Dehydration of formic acid by conc. H,SO, at 100°C gives CO,
e) The distance between two layers in the graphite 1s 34 pm

Bod @S HBBS Jddmeds Holod
a) ROFn 2oITE JErad) BOA Golrow

b) HOJ0S® QITHNE 0oL

(I:H3

%:HE n
C) Cg @09, add Cododiren 0850 ok Cs Sodiren tolraw
d) 100°C 58 ma H,S0, & 8§ &2y g08500 Ty CO, &S0 meis

¢) (MP&S” Tod o gy drddn 34 pm

Options:

2.

3

a,b, c.d

a.b.c
v

c.de
®

a.b.e



Question Number : 138 Question Id : 4928631098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When pH of rain water is below ‘X, 1t 1s termed as acid rain. ‘X’ 1s?

S8 A pH Densd ‘X’ $08 $80,5 0andPd o ‘eddo’ od votrd. X 28?

6.6

4 ®

Question Number : 139 Question Id : 4928631099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

1 g of'an organic compound containing C and H, on complete combustion produced 3.04 g of
CO, and 1.53 g of H,O. Find the approximate percentage composition of C and H in the
compound.

C.Hen o 1 2888 530§y rom Sdrdo Ssdydo 3.04 g CO, 50005 1.53 gH,0

Dd\@um. é&é@fﬁm By, DoPobd T 835087 08,

o
Options
C% H%
L 383 17
% H%
80 20



C% H%

I 15
C% H%
L x 88 12

Question Number : 140 Question Id : 4928631100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following compounds has zero dipole moment (u=10) ?

Bod I T Bughd Erdiso oyl (U =0) S0d 267
Options:
trans - But - 2 - ene
L € - g - 2 - &
Cis - But- 2 -ene

?\:E-wgﬁ-ﬁ—éaﬁ

2 - Methylpropene

3 - Methylbut - 1 - ene
3 - Pdargdd - 1- &

Question Number : 141 Question Id : 4928631101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Which of the following gives a red precipitate upon reaction with a terminal alkyne?

808 TES o8 o8k 6 & $Iy 2BRIIPE Y Jofld ©IZT) AN 8?

Options:

Cu.Cl1
v L,

.[AE(NHB ), ] " Su

Question Number : 142 Question Id : 4928631102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ratio of packing efficiency in fcc. bee and simple cubic structure respectively. with
respect to that of fcc 1s

fec Sdomm fec, bee $odasn 8¢ S Josros® Srdyy FHodsd IS v
Options:

- 1:092:0.71

1:081:0.67
2 &

1:0.71:0.58
=3 W

1 1065 055
4 #®
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Correct: 1 Wrong: 0



8.9 g of KCl dissolved in 1 L of water exhibited an apparent degree of ionization of 0.86.
The osmotic pressure exhibited by this solution is equal to the osmotic pressure of 1 L
glucose solution of unknown concentration. Calculate the glucose solution concentration
in wt. %, (M. wt. of KC1 =74.5).

L& 8.9 go KCl& 88A0utA o8 (HeEd 0B &)y @il @56 0.86. & @rdo)
G wESH0, mES BOGHI 1 L Ar8'S i) Eordddn 2drd8 Hidrssn.
e o)) mEsd Wi % o 8§ owdn.

(KC1 w0280 = 74.5)

Options:

0.4

1 &

40

o R

0.04

Question Number : 144 Question Id : 4928631104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The vapor pressure of a solution of glucose 1s 720mm Hg at 100°C. What 1s the mole
fraction of water in this solution?

100°C 3§ A78'S (Esel wibhésso 720mm Hy & @s00s® 38 306 eriSoos?

Options:
12

L 10



740

2 % 760
700
760
4.

Question Number : 145 Question Id : 4928631105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The emf of the following cell is 1.229V at 298 K.

Pt. H, (lann)‘HJ“(lM)‘Oz (1atm). Pt

The standard free energy change for the cell reaction 1s
[F=9.649 x 10* C mol]

298 K 58 1806 ooy emf dend 1.229V.

Pt. H, (1atm)|H" (1M)[0, (1atm). Pt

H, +%02 —H,0

A o ..,-g..f'_ g L MR N o
W8 TGO (Rar WEITEE Sy Dod?

[F =9.649 < 10* C mol]

Options:
—212.77 kJ
1 #
- 23717 kI
—577.1 KJ

3 ®



4743 kJ
4 ®

Question Number : 146 Question Id : 4928631106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If a first order reaction is found to have a rate constant of 1.386 x 10712 51, the half life of
the reaction in s 1s

D80 Eirol $EgE0 ESoirSeds Giw Rorogo 1.386 X 10712571 wand &6y eoncings o

S e’

Options:

6.93 x 10!!

1 &

13.86 = 101

5.00 x 10!
3. v

2.00 x 10"

4 ®
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X : : o g :
If —=k P% equation represents the Freundlich adsorption isotherm where x is mass of
m

the gas adsorbed on mass ‘m’ of the adsorbent at pressure P. & and » are constants which
depend on the nature of adsorbent and the gas. Which of the following condition represents
the figure?

Eoimt,
.=

[@oodR HArPly DoEdmos® Padso 3¢ ‘m’ (Bigord Ho «fFfatow

@fT I BodS Tralnd (KS30°8 x. kSoboin new ©iFago, iy Serhon BErdda

WU osTwY. 5ol 3 D0gdiwn TS (TEIPFo HeTrFow.

k)
lc-gi
m
logP —
Options:
' 1
loghk<0, —=1
1
1. %
| 1
logh>0. —=1
- n
| 1
logh>0, —=0
- n
| 1
logk<0, —=0
L 7
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Match the following

List-1 List-1I
(a) Copper (1) Bauxite
(b) Iron (1) Malachite
(¢) Zinc (111) Haematite
(d) Alminmm (iv) Calamine

(v) Galena

8ol T8I =EB8Wod

e - | e - 11
(@) 5356 (1) =58
) 265 (i) Sross
(c) =of (iil) Se8E
(d) weosgaddoso (iv) s*os

(v) Aoda

The correct answer 1s

D0 2000 23477200

Opﬂonsz(a) ®) () (@
- i) (i) @) (W)
(@ ® @© (@
L, @ G) @) (id)
@ ® ©© @
o @) @) v @)



@ @® @ @

} () & @ )

4.

Question Number : 149 Question 1d : 4928631109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

Which one of the following does not possess N—N bond?

od 78S AAS® N-N 200850 €okidn?

Options:

N.,O
18 -

- N,O

L¥ ]

N,O

T 7

N,O

4 ® e

Question Number : 150 Question Id : 4928631110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

Asolid ‘X" onreaction with dil HC1 liberates a gas Y. which decolorises acidified KMnO,,
X, Y respectively are

X o Ho8d0 208 HC S $6g3T0d Y eod oroindd ddude Haino. ‘Y”.%il_g_égé
KMnO, o 25850 Bodbaso. X, Y e 38004

]

Options:
Na,S. SO,

1 #

Na,S0,.S0,
2 = =



Na,SO,. SO,

o R

Na,SO,, H,S

4 %

Question Number : 151 Question Id : 4928631111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The calculated spin only magnetic moment. pt (in BM) of [CoF ;]*"is

[CoF (]~ G008, #eBoddd 28 Sorigd echdmod griddn (BM os®) Jod?

Options:

L 4.90

Question Number : 152 Question Id : 4928631112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

Which of the following lanthanide ion has the highest number of unpaired electrons?
Bod TES" w8ghE 20Ld JVFRWN) TroEIE WASrS 67
Options:

Pm3"
1 %

3+
> Sm

Eu’*
z ®



Gd*
4 &

Question Number : 153 Question Id : 4928631113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

Which one of the following statements is not correct?

§od TES® 2B JOFWE ISV 587

Options:

Starch and cellulose are polymers of glucose

TG Ho0c5n DeugSEe KPEE @ng, FOJK

Artificial silk 1s derived from cellulose
é&@a;’ﬁ ”‘&J ’@mg@ﬁ ook :Ddgcé:éou&

Polystyrene 1s an example of thermoplastic polymer
FOROS ehsd GTIRE FOWEH wTTdw

The monomers of Buna-S rubber are isoprene and butadiene

Do DOCSH wrgladonsed wrgd-S b B IS o8
W =

Question Number : 154 Question Id : 4928631114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following will not produce an aldehyde group at the anomeric carbon in
solution?

b &8 Elmred’ J6 ITH0E G I8 sQwrE HHoI BTEE?

Options:
Sucrose

SoE'S
1. ¢



Maltose

= ® -
Lactose
e s

3 % &
Ribose
[ LoN-:]

4. [ -

Question Number : 155 Question Id : 4928631115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Antihistamines generally do not affect the secretion of acid in stomach, as

DR Ferdmor 2E8F0S” o NI Bgw Pardo S

]

s D

carodder

s

&5
£
C
£
(V). 8
O
£l

g

Options:
Antihistamines are anti allergic

oﬁowriﬁﬁ.«“{ﬁﬁbﬁm, oSrotl Jeodsen

1 &

Antihistamines are amino compounds
o O&J—DU&E.TEE;}BD -'.S"-‘DJ._. ::JE)O:S;‘ ﬁﬁ)g@‘fﬁ“m

2. 5 =
Antihistamines are acidic compounds
Sro8rddoSen, ad R dren

3 ® " & =
Antihistamines work on different receptors
SSroBIrPed IV TIEO D HADTon

4 v
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The major products P and Q formed in the reactions given below are

§od HEgos® JOE s wdhomeo P.Q ew

HBr
> P
(C,H,C0),0,
> Q
HBr. A
Options:
P Q

(L, @)

Br
1 *®
P Q
Br
s S
o W
P Q
Br
od o
3 ®
P Q
Br
OA C[Br
4
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Correct: 1 Wrong: 0

What are the products formed in the following reaction?

Bod Woges® :J:ﬁ;]a G ETO0 e

OCH;

HI
—_—
Options:

Phenol, methyl iodide

23S, NFS vBEE
1. ¢

Phenyl 1odide. methanol

P oREE, WEITSE

Diphenyl ether. methyl iodide
VIS $66, 1JS oBwRE

Diphenyl ether, methanol
336 &GS, WEITS

Question Number : 158 Question Id : 4928631118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The reaction of acetylene with H,O in the presence of catalytic amount of HgSO, and dilute
H,SO, gives the product A. Compound A upon treatment with aqueous NaOH forms B. What

are A and B?

JBOT W8S G5B WE Jodreos” & HgSO, Sobcsnw 208 HS0, ddoges’ Aed
G SHH0080 adgod. Bd0¥SSe Azeo NaOH eu8gs® B ad)toigos. A. B en 227

Options:



A B

CH,=CH-OH HO-HC=CH-0OH
1. %
A B
O
CH, CHO /%)I\H
2
A B
. CH;CHO CH,—-CH=CH-CH,
A B
I
CH,=CH-0-C-CH, CH,=CH-OH
4 *®

Question Number : 159 Question Id : 4928631119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following compounds reacts with phenyl magnesium bromide to form a
salt of benzoic acid?

[ T

Bod dTreod® A6 IS Dijnchd FHES WgTod BoFons s W),
©Je770) R0L?
Options:

Carbon monoxide

58w 0PI 8)G
1% =



Formic acid

05 252300
2 % g

Formaldehyde

|, T

Carbon dioxide
e 8 56
4.

Question Number : 160 Question Id : 4928631120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the correct percentage of A, B and C formed in the following reaction

HNO;+H,80, |

Aniline 522K -Nitro aniline + p-Nitro aniline + m-Nitro aniline

(A) (B) (C)

Bod $85S° AL B Sobcin Ceo 8@ 20508 e Hgobod

AVOR PH‘J%;;%SQTL > 0OJE AN + PIEINOY + M-JE A0S
(A) (B) (©)
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Answer
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121
122
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41
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45
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48
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